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A quel intervalle correspond l’inégalité suivante ?

1 ≤ x ≤ 5
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A quel intervalle correspond l’inégalité suivante ?

−2 < x < 3
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A quel intervalle correspond l’inégalité suivante ?

x > 3
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A quel intervalle correspond l’inégalité suivante ?

x ≤ −2
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Quelle inégalité correspond à cet intervalle ?

x ∈
[
−1; 32

]
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Quelle inégalité correspond à cet intervalle ?

x ∈
]
−7; 103

[
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Quelle inégalité correspond à cet intervalle ?

x ∈ ]−3; 5]
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VRAI OU FAUX ?

1 −2 ∈ N
2 3, 5 ∈ R
3 −3, 25 ∈ D
4 5

2 ∈ D
5 2

3 ∈ Z
6 7

9 ∈ R
7 8

2 ∈ N
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